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PAR'{‘ 1

‘H Answer all the 14 qu(‘.‘stlﬂlls. (i1) ( e most su“abie answer f!ll!ll ‘he gl‘e“
f()u: al erna 5 rite the Gp‘lun Cod& - \
t atives and W 14 2 i

:)h;:zra;-g;: (;f;the re]atio;)i?; 3‘.(::._ :zj/x. is a prime number less than 13} is
M e <55 959, LY c)44,9,25.49.121) d){1.4.9,25.49, 121}
Iff: A — B isa bijective function and ifn(B) = 7. then n(A) is equal to
a)7 b) 49 ¢) 1 d) 14
{f' 6 times of 6™ term of an A.P. is equal to 7 tjmes the 7% term, then the 13* term of the A.P.
is
a)0 b) 6 c)7 d)13
The HCF of the least prime number and the [east composite number is. .
a) 1 b)2 )3 d)4
The number of points of intersection of the quadratic pelynomial X2+ 4x + 4 with the x axis is
d)0 b) 1 c)Oorl d)2
1

‘r 7
SoA=20d GeE
For the matrix [ the order of the matrix AT is

|
|
Bi it ISJl :
a)2 X3 b)3X2 c)3X4 d)4X3
Ina A ABC, AD is the bisector of |BAC . If AB = 8cm, BD = 6cm and DC = 3cm, then the
length of the side AC is
a) 6cm b) 4cm c) 3cm d) 8cm
If(5, 7), (3, P) and (6, 6) are collinear, then the value of P is
a)3 b)6 c)9 d)12
The equation of the straight line passing through the point (3, 3) and parallel to y-axis is
ay=5 b)yy=3 Hhe=3 dyx=3

If (sina + coseccr)” +(cos & +sec o) =k +tan® & +cot’ a . then the value of k is equal

to
a) 9 b) 7 c)S d)3

The angle of depression of the top and bottom of 20m tall building from the top of a multistoried
building are 30° and 60° respectively. The height of the multistoried building and the distance

between the two buildings (in meters) is

a) 20,10 b 020,10 d) 30,1043
R ) 30,543 . FRS 10 EM Maths Page-1



https://www.padasalai.net/
https://www.padasalai.net/

20.
23

If two soli i S i ;
wo solid hemispheres of same base fadius p ypjgg are joined together along their bases. then

C.S.A. of this new solid is
a) 47, sq.units  b) g7 sq. UNS ¢) 3752 sq. units d) g2 sq. units
The volume (in cm3) of the greatest sphere that can be cut off from a cylinderical log of wood

of base radius Icm and height Sem is

10 '

S LS 20
) 3 b) 3 # C) Sx d) Tf
If the mean and C.V. of a data are 4 and 87.5% then the standard deviation is
ay3’s b)3 e)y4.5 d)2.5
PART - 11
Answer any 10 questions. Q.No. 28 is compulsory :- 10X2=20
The arrow diagram shows a relationship » P i
—

between the sets P and Q : \ )
(1) Write the relation in Roster form [ 8- TN

(ii) What is the domain and range of R.

Determine whether the graphs given below represent functions :

Findthe sumof2+4+6+ ...... + 80
B i 2 ]
5 1
A -Ji7 0.7.= -
If 2 | then verify that (AT)" = A.
8 St 4]

In A4BC.AD is the internal bisector of | 4. If BD =4cm, DC = 3cm and AB = 6em, find AC.

State Pythagoras theorem. FRS 10 EM Maths Page-2
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e
g

Find the slope of the line join;
Joining the pgj,
IS (<6, 1)

and (-3, 2). 2
Show that the straight lines 2x +
3y-8= |
0, 4x + 6y + 18 = | R

. : 1 +si
Prove the identity __:1]_]_(2 =secd vl T
l-sing +tang R

From the top of a rock of ] i
5043 m high, e angle of depression of a car o the ground is

observed to be 30°, Find the distance Of the car from the rock

I'he C.5.A. ofaright circular eyl g . g o s
areylinder ofheight 14cm is 88cm’. Find the diameter of the cylinder

e stai
Find the standard deviation of first 2] HRA numbers

Find the quadratic equation whos :
€ roots are 1 \/— | '
BT and 3/

PART - 111
Answer any 10 questions, Q.No. 42 is compulsory :- ' 10X 5=50
Let A = The set of all natural numbers lesg than 8, B = The set of all prime number less than &,

(= The set of even prime number. Verify that (4 B) X C=(4 X C)n (B X C).

) o=
2 N R |

- ']

If the function f'is defined by fx)= B find the value of
x=l ; -3<x<-1

() f(3) (i) f(0) (iii) fA(=1.5) (iv) f(2) + {(-2).
The sum three consecutive terms that are inA.P. is 27 and their produet is 288. Find the three

term.

Find the sum of all natural numbers betweer 300 and 600 which are divisible by 7.

1 [avgas el | |
Simplify : Py +:T_2-3X+2 ¥ -8x+15 ' by
; el '
5. A _ O nif it
e | B={1 2| ifythat (AB)' = B'A". .

55 =il

are concurrent,
Show that the angle bisectors of'a triangle
pts o coordinate axes whose sum is 7 and is passes through

A line makes positive interce

(-3, 8). Find its equation.

tion of the bottom and top of 4 { fixed at the
les Ofﬂlwa p of a tower fixed a
Froma pmnt on the ground the ans

pctwely FII‘ldthehL’lglllOilh(.lowu 3 ——1732)
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38.

40.

41.

42,

43.

44,

If the radii of the circular ends of frustum Which is 45¢m high are 28cm and 7cm, find the volume
of the frustum. .
Water is flowing at the rate of 15km pet hour through a pipe of diameter 14cm into 2 rectangul.ar
tank which is 50m long and 44m wide- Find the time in which the level of water in the tank will
rise by 21lcm.
The mean and standard deviation of 1> @bservations found to be 10 and 5 respectively on
rechecking it was found that one of the Observatior with value 8 was incorrect. Calculate the
correct mean and standard deviation if the correct observation value was23?
A bag contains 5 red balls, 6 white balls. 7 green balls, 8 black balls. One ball is drawn at random
from the bag. Find the probability that the ball drawn is (i) white (ii) black or red (iii) not white
(iv) neither white nor black.
Find the area of the shaded region.
G5, 7)
D
(5,5)
A1) B(8,1)
: ‘
PART - IV
Answer all the questions :- : 2X8=16
a) Constructa APQR such that QR = 5cm, [P = 30 and the altitude from P to QR is of length

4.2 cm. (OR)

b) Draw a circle of radius 4.5cm. Take a point on the circle. Draw the tangent at the point using

the alternate segment theorem.
1 ~ . - .. - .
a) Graph the linear function ¥ = ‘2‘-\' . Identify the constant of variation and verify it with the

graph. Also find (i) y when x =9, (i) x wheny = 7.5. (OR)

b) Draw the graph of y = x> + x — 2 and hence solve X’ +x-2=0.

FRS 10 EM Maths Page-4
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